Trasformate di Laplace piu significative

Indichiamo con A I'ascissa di convergenza. Inoltre definiamo

2 [ e 2 [T e
erf () = ﬁ/o e " dx, erfc (t) = ﬁ/ e " dx.
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(1) PO, )= LF0s) = [ e

2) Gt) = Flet), c>0,  g(s)=—F(3),  Aa=cr

(3) G(t)=F(t—to), to >0,  g(s)=e"f(s), Aa=Ar
(4) G(t) = ¢"F(t), ac C,  g(s)=f(s—a), A¢=Ap+Rea
(5) ) =—tF(W), o) = 1), Aa=Ar

(6) Gt) = F'(),  g(s)=sf(s) — F(07),  Ag = max{Am Ap}
(1) G(t) = /0 Py, g(s) =1 is) Ao = max{0, \p}
) 6 =2 o) = [Trman da=ae

© F)=H(®),  f(s)=—  A=0

(10) F#)= H)e™, a€ C,  f(s)=- ! . A=Rea
(11) F(t) = H(t)sinwt, w € R, f(s) = 5 j:wQ, =0
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F(t) = H(t)coswt, w € R, f(s):m, A=0
F(t) = H(t)sinhwt, w € R, f(s) = ‘_"WQ, A= vl
F(t)= H(t)coshwt, w € R,  f(s) = ﬁ A= vl
F(t)=H(t)t", ne N f()—sﬁl, A=0
F(t) = HH)#, Rea > —1,  f(s) = F(So‘ajll) A=0
Fity=Ht) e,  f(s)= gesz/‘lerfc(g), A= —00
F(t) = Hit)erf(t),  f(s) = ées"’/%rfc(f) A=0
1
F(t) = H(t)erf(\/1), f(s):S — A=0
F#t) = H)nt,  f(s) = - - logs — y_y
1 —e? 1
F(t) = H(t) ; f(s)=In(1+ -) A=0
1
F() = HOLW,  f&)= = A=0
Gt)=(Fi+1)(t),  g(s)=fils) fo(s),  Ag=max{Ar,Ar}
1 T
G(t) = HWOF(): F(t+T)=F(t), T>0,  g(s) = +—— / e P () dt,

A=0



